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TEIOY | dTEre | e 22000 440
TEIY | dare | 320 20000 400
AERTY | aTe | HwE 45000 2250
g | SrmarE | 1 20000 400
Y | AMETE | Joh 30000 600
Y | AT(METE | i 65000 3250
R | d@TmaRe | T 35000 700
TEIY | AErE | SER 25000 500
TEIOY | WETE | T 45000 900
HETY | "SI0 AT (AT3D) 38000 760
ATy | 9T AT 27500 550
TETY | 9TaE% A 20000 400
TETY | 9TaEY A=Y 20000 400
AT | 9TdHY AT (ATZD) 45500 910
TEIg | T AT 20000 400
Helg | TS AT (ATED) 45500 910
wery | B IS 20000 400
ey | et FTIH 45000 2250
aEry | @t T 20000 400
aery | @t T 35000 700
werTy | TR ST 25000 500
aETy | @t CIDIEID] 45000 900
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HERTY | 3ThrAT T 19000 380
HEITY | SRl (8 31500 630
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HERTY | 3ThrAT AT 45000 900
wR|RY |92 Gl Ed] 22000 440
1Y |4 3ei 20000 400
wR/RY |92 HTLH 45000 2250
Ry | g% A=Y 12500 250
AeTY |4 v 20000 400
AeTY |4 S ELUl 35000 700
Ry | g% "Rl 30000 600
1Y |4 EAEA 65000 3250
AeTY |4 ATT (TTED) 37500 750
Ry | g 7 35000 700
Ry | g% Gl 24000 480
Ry | g% SaTa 25000 500
Ry | g% AT 45000 900
qERTg |0 TSI 22000 440
ATy | I 20000 400
ATy | o AT 20000 400
qgg | IO T 20000 400
g | IO T HT 35000 700
ATy | o EIEA 65000 3250
ATy | AT (TTED) 45500 910
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